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I ’» mwn: mixing of various n*wp

a

b

If: an nwWR and D'NYw got mixed (while alive)

i v slaughter both in north (mann are identical) and both are eaten like nwx (mxn Ty ,n71Ya NN 7M21)
ii  pp3m we may not bring WP to an early %10

If: pieces of 7wa got mixed; 0*w1p »w1p with DYp DWTP; BNYV (eaten for 2 days) with nTIn (e.g.- eaten for 1)
i Then: they are eaten within the more severe parameters

II  Backdoor ®mv: diminishing parameters of wTp

a

0

N1 (before 27): Ty72w 'nT may not be used to buy nmn
i Reason: generates external limit to NN n%aR (must be consumed before original crop is completely harvested)
Students (before 837): this cannot accommodate w"1’s opinion (in our nwn)
Rejection (837): w™’s opinion is only Tap>72 — he may not allow a diminishing of DwTp nYHR
Challenge (»28): Y8ynw "v's ruling that B’3n12 may prepare wTp w1 any way they like — even adding nnn *an
i Defense (¥27): the nmIn on spices is “only” 11297 — not a concern if it's eating framework is limited
Challenge (»28): contra ©nam who disallow buying nman with v”yn qoi, v allows (n>’nn2Y) (may only be eaten in b-’)
i A37nO0Tresponse
ii ~ 7an came to qov 19, who suggested that (in his first challenge) he should have challenged from this ruling:
1 Ruling: may not cook m»aw vegetables in nmIN Yw 1N - and v™ permits
(a) (»an: thought reading was inverted, and nman v p is also 131277 — no better than his own challenge)
(b) 9o 37. but reading is nmIN Y 1NY — which is n”nn — for use with nY»aw vegetables
(c) 7an had already challenged (#2)and his response was “it had already gotten mixed” — would answer
same here
(i) Challenge: if it were already mixed, why would 1127 disallow?
(if) Answer (»aR): just as they disallow bringing mixed pm5w/pDwR as nwWR
1. Challenge: the two are not alike; in that case, there is a solution (grazing etc.)
2. Therefore: our case is more similar to pieces getting mixed (where 1327 allow 112w 710n2)
3. Challenge (81°27): disanalogous; in case of “pieces”, no solution at all; here, it could be squeezed
a.  Block: squeezing not an option; if all squeezed out, destroys my»av, if not, still mixed
Challenge: in case of (1709) 7301 PAL (1272 27°N) VOMN PAv ,YN¥N —
i " the next (8") day, he brings nwx and 1nw 1% with condition:
1 If: he was vomm, this is his 127p
2 Ifnot: the 127p is a NaT MHV
(a) And: it requires all mImn of owR and DN5W (M9 DY NYIR ,NAX NVNY, but YN NaN 0501 ,1'ND)
ii ~ Answer: in case of “repairing” (n193) for the man, v allows even n%nn% (no other solution for him)
iii ~ Challenge: how do we account for 1w 15?
1 Answer: brought as (conditional) nam
2 Challenge: (if he’s not a ynxn) — requires n¥'np (inferred from nnin)
(a) Answer: we do nxmp
(b) Challenge: (if he is a ym¥n) — he requires 7 mann from that 1nw (Answer: we do that as well)
(i) Challenge: then it is incomplete (Answer: we may bring more, per »7 0'y))
1. Challenge: requires nvopn (Answer: we perform nivopn)
a.  Challenge: whenever we perform nopn (before or after minn) it is problematic
b.  Reason: if put up afterwards, violation of mwR5 annw % (per v. 1)
i.  Answer: put up as fuel, per ®"’s read of v. 1
2. Challenge: the bit that we added wasn’t included in the ymp
a. Answer: we (eventually) redeem it from v1pn
i.  Challenge: whenever we redeem it, it is problematic (if outside — ®xv; if in — nrya PHn)
ii. Answer: we redeem inside — nva PN is only a problem if brought in as such
iv  challenge: ™ ruled that we may not bring jnw as a nam (answer: to give him n193, he allows)
v question: why don’t we allow him to bring it on condition — if not ym%n, it is an nYn DK
1 suggetsion (by student): v"™ must be the Xin who disagrees with 8", disallowing a voluntary ?5n nwx
(a) rejection: this is a wrong inference — one is a yearling — »718n WX —whereas ">n DWR is a 2-year old
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